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Monday

Date: December 7/

How are you feeling today?
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Learning Target: Multiply three- and four-digit numbers by
one-digit numbers applying the standard algorithm.
Standards:4.NBT.5

Do Now: 4.NBT.1

Ms. Larsen is buying(2 delivery vans)for her business. The price of the first van

is shown below.

(316,257
$16,257 o

The(digit 2)in the price of the second van lsthe value of the in
the priceof the first van. Which amount could Be the price of the secondvan?

st van Ind YOO
(A 512987 e
{p O
B $15927 : =

C $17,257

D $21,579




Concept Development
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Let’s Work Together!

N\

Problem 2: Solve 5 x 237 using the partial products algorithm. Then solve using the standard algorithm, and

relate the two methods to each other.

237200 +30+7 2060 30/ o s
. S )
x 5 - 5 X_LQOO 150 |& Né,sc\;&ox\(}& Torm
1000
35 35
ARE R ‘4;500@&
/\/\/;)\/\/7 MM,M/”“\/”’/«M wﬂ\w"jﬁﬁ\wm T N
) . -
- Wnos do woo nofice !
3““*3; i WCH w0l g 208t 7 (class handd)
1135
/
sgfm bag g
A small bag of chips weighs@gm\S)A large bag of chips weighs/three z|.
ti{@ as much as the small bag. HHow much, will(7 large bags)of chips
_weigh?
WAt 0o we Know ? ﬁ@m% a . " g -
sl bog = 4¥ _ Hfgfﬁg 000 ? \226]550 Bre) %o ook 12361550
a¥8?  Lod - 3x 05 mOth 5 2
N , AN 325k achocK o
We nad $0 Wow 7 oy w/ pagts
W with i \eag 226 Prodocts
Mow mvth 1S 77 vags Yo + 8
. - 71280180
vae b . ' 780
1 lavge bags woll A8
cost 3308
: - 3
(FUs.

Aow comg  3dbsn 't
AU £ingl answel?



You Try!

1. Soive using each methed.

Partial Products | Standard Algorithm Partial Products Standard Algorithm
a. 3 4 13 a4 b. 2 2 a4 2 2 4
x 4 X a X 3 ® 3
30 H v
i 56
120
vl /
> 0b
2. Solve. Use the standard algorithm.
3. b. .
2 5 1 1 5 3 0 3
X 3 » 6 x 9
d. e f.
4 0 5 3 6 3 9 2
% 4 x 5 x 6
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3. Theproductof 7and 86 is . 4. 91times as many as 457 is

*Retiew nefole vt ncley

5. Jashawn wants to make 5 airplane propellers.
He needs 18 centimeters of wood for each propeiler.
How many centimeters of wood will he use?



EXIT TICKET

Name: Date:
BCCSG William Smith / Spelman

Learning Target: Multiply three- and four-digit numbers by
one-digit numbers applying the standard algorithm.
Standards:4.NBT.5

Directions: Answer the questions below. Make sure you show work for every
question. Record your answer on Google Classroom

1. Solve using the standard algorithm.

a. b.

2. Morganis 23 years old. Her grandfather is 4 times as old. How old is her grandfather?

Grade:
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Date: December 8

How are you feeling today?

Wz iz Jl- -

e Nee” @@ ~ee”
P G \usi4

W iz Jiz -
@ TeeT Tee” Tee”

M ‘\\Vr ‘\\Vr M
Tee” 00T Tee” Tes”

10



Learning Target: Multiply three- and four-digit numbers by one-digit
numbers applying the standard algorithm.
Standards: 4NBT.5

4 .NBT.1
Do Now:

Andrew wrote the number 186,425 on the board. In which number is the
value of the digit 6 exactly 10 times the value of the digit 6 in the number
Andrew wrote?

A 681,452
B 462,017
C 246,412
D 125,655



Concept Development
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Watch Me!

/

Problem 1: Solve 5 x 2,374 using partial products, and then connect to the algorithm.
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Let’s Work Together!

N\
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You Try!

1. Solve using the standard algorithm.

a. 3Ix42 b, 6x42 O‘\Q/{X\ OX\&U)@\G
w/ PP
Lot O v
Lo | - Vi
c. 6x431 d. 3Ix431 P P(‘O&\I}
Lap 2
fk nsuaer” fef
£
e. 3x6b6,212 f. 3x3,106
g. 4x4,309 h. 4x8,618
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2. There are 365 days in a common year. How many days are in 3 common years?

3. The length of one side of a square city block is 462 meters. What is the perimeter of the block?

4. Jakeran 2 miles. Jesse ran 4 times as far. There are 5,280 feet in a mile, How many feet did Jesse run?

16



EXIT TICKET

Name: Date:
BCCSG William Smith / Spelman

Learning Target: Multiply three- and four-digit numbers by one-digit
numbers applying the standard algorithm.
Standards: 4NBT.5

Directions: Answer the questions below. Make sure you show work for every
question. Record your answer on Google Classroom

1. Solve using the standard algorithm.

a. 2,348x6 b, 1,679x7

2. Afarmer planted 4 rows of sunflowers. There were 1,205 plants in each row. How many sunflowers did

he plant?

Grade:




Wednesday

Date: December 9

How are you feeling today?
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Learning Target: Connect the area model and the partial products method
to the standard algorithm.

Standards: 4NBT.5

Do Now: 4.NBT.2

Which expression shows 125,206 written in expanded form?

N\OAQ/\ ?‘(O@/SS. \
ot e\iminoction
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100,000 + 20,000 + 5000 + 200 + O - b
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Concept Development
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Let’s Work Together!
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You Try!

1. Solve the following expressions using the standard algorithm, the partial products method, and the area

model.
a. 425 x 4
AQOSS ¢
* %\st‘\\sﬁ"\“‘z PR
(0. %Y
{4 I ERC RS )+ (4% }
b. 534 x 7
7 + + )
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Cayla’s school has 258 students. Janet’s school has 3 times as many students as Cayla’s. How many
students are in Janet’s school?

A restaurant sells 1,725 pounds of spaghetti and 925 pounds of linguini every month. After 9 months,
how many pounds of pasta does the restaurant sell?

24



EXIT TICKET

Name: Date:
BCCSG William Smith / Spelman

Learning Target: Connect the area model and the partial products method
to the standard algorithm.
Standards: 4NBT.5

Directions: Answer the questions below. Make sure you show work for every
question. Record your answer on Google Classroom

Grade:
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Thursday

Date: December 10

How are you feeling today?
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Learning Target: Solve two-step word problems, including multiplicative
comparison.

Standards: 4.0A.1 4.0A.2 4.0A.3 4.NBT.5

Do Now: 4.NBT.2

(;\{\N\D\Qﬁ NEZAY

Which expression shows 125,206 written in expanded form?

100,000 + 2,000 + 5,000 + 200 + 6
100,000 + 20,000 + 5,000 + 200 + 6

100,000 + 20,000 + 50,000 + 200 + 6

C N o >

100,000 + 20,000 + 5,000 + 2,000 + 6

27



NOTES

arty guest receives a bag with 2 balloon, i lollipog) and

- The table shows the cost of party favors.
bracelet What is thegmtai}\.ost for A guests?

tem Cost
1 balloon 26¢
1lollipop 14¢
1 bracelet 33¢

T now

\alloon = 2l
lo [liPOD = 11

| bracelet = 35

i1

4]

T nog o Know
How wauch doee | wdnge

‘{:@Je”*gwf

o

Wact ploout for 4 quests?
Ly The ol 0%t

fol {j% QUeESIS 8

’Q‘F’% ot \)Q‘(‘Q\\ WSO
\%05 \n%%“s
QA

“\\)5 SV\V\




Let’s Work Together!
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The Tumer family uses(548 liters of water per day) The Hill family uses

times)as much Water\@day How much water does the Hill family
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Jayden has 347 marbles 1V1s has‘as many as Jayden. Presley
has(799 fewe than Elvis. How many marbles does Presley have?
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You Try!

The table shows the number of stickers of various types in
Chrissy’s new sticker book. Chrissy’s six friends each own the

same sticker book. How many stickers do Chrissy and her six
friends have altogether?

o0
OO et (or (noke O >

LoRS

oo

Col
‘ a8\

of
2) wsw“_qﬁ 7

Type of Sticker Ng 2:;:‘5
flowers 32
smiley faces 21
hearts 39

The small copier makes 437 copies each day. The large copier makes 4 times as many copies each day.

How many copies does the large copier make each week?

»  Jared sold 194 Boy Scout chocolate bars. Matthew sold three times as many as lared. Gary sold 297

fewer than Matthew. How many bars did Gary sell?
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EXIT TICKET

Name: Date:
BCCSG William Smith / Spelman

Learning Target: Solve two-step word problems, including multiplicative
comparison.

Standards: 4.0A.1 4.0A.2 4.0A.3 4.NBT.5

Directions: Answer the questions below. Make sure you show work for every
question. Record your answer on Google Classroom

Jennifer has 256 beads. Stella has 3 times as many beads as Jennifer. Tiah has 104 more beads than Stelia.
How many beads does Tiah have?

Grade:

31




Friday

Date: December 11

How are you feeling today?
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Learning Target: Use multiplication, addition, or subtraction to solve
multi-step word problems.
Standards: 4.0A.1 4.0A.2 4.0A.3 4.NBT.5

Do Now: 4.NBT.2

Which number sentence is true?

K Reviewd synooig

A 376,425 - 367,419 € naded,

B 337,425 - 337,524 H SFOCN0) SHOAegy
w/ procss of

C 336,425 -~ 335,426 W1 NOT o

D 327,425 - 327,416
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Concept Development

Over the summer, Kate earned($180 each Wg@()f that

money, she $3 75 on a new computer an \S\S 3}7011 new clothes. How
much money did she have left? |
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Let’s Work Together!

N

@eighin 28 pounds eac and Weighin@

pounds were loaded onto the back of an empty truck. A crate of apples

was then loaded onto the same truck. If thefotal weightloaded onto the
truck was@,000 pounds, how much did the crate of apples weigh?
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Lops

1)@3@\(\;5
' !
You Try! 2 o

1. Apair of jeans costs $89. A jean jacket costs twice as much. What is the total cost of a jean jacket and 4
pairs of jeans?

2. Sarah bought a shirt on sale for $35. The original price of the shirt was 3 times that amount. Sarah also
bought a pair of shoes on sale for $28. The original price of the shoes was 5 times that amount.
Together, how much money did the shirt and shoes cost before they went on sale?
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EXIT TICKET

Name: Date:
BCCSG William Smith / Spelman

Learning Target: Use multiplication, addition, or subtraction to solve
multi-step word problems.

Directions: Answer the questions below. Make sure you show work for every
question. Record your answer on Google Classroom

Michael earns 59 per hour. He works 28 hours each week. How much does he earn in 6 weeks?

!.  David earns $8 per hour. He works 40 hours each week. How much does he earn in fi weeks?

). After b weeks, who earned more money? How much more money?

38
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